Instruction Sheet 239681 - E35 Turbofan Ovens - Double Stacking Kits
DSKE35-26 / DSKE35-26C (26” Ovens) and DSKE35-30 / DSKE35-30C (30" Ovens).

A

Suitable for the following models:

E35D6 (26 and 30”) Ovens.
E35T6 (26" and 30”) Ovens.

Contents:

As Shown in Instruction Sheet.

SERVICE WORK ONLY TO BE CAI%R[ED OUT BY QUALIFIED PERSONS

Packed By: -
o0 e /)
Initial Date

Caution:

Ensure that the appliance is isolated from the electrical supply before commencing servicing.

DSKE35-26 / DSKE35-30

DSKE35-26C / DSKE35-30C |

L

Fi&re 1

239681-1




Instruction Sheet 239681 - E35 Turbofan Ovens - Double Stacking Kits
DSKE35-26 / DSKE35-26C (26” Ovens) and DSKE35-30 / DSKE35-30C (30" Ovens).

A. UNPACKING

Check that the kit includes all the correct parts and correct quantities for the kit purchased as listed
below.

r Figure 2 -

ITEM DESCRIPTION
STAND FRAME (ADJUSTABLE FEET)
STAND FRAME (CASTORS)

STAND SIDE (TOP)

SCREW - M10 x 20 HEX HD SS

WASHER - M10 S5

WASHER - M10 x SPRING SS

SCREW - M6 x 12 SEM HEX HD POZI ZP
WASHER - M12 x SPRING ZP

SWIVEL CASTOR 75MM BRAKED (M12-PU)
SWIVEL CASTOR 75MM NON-BRAKED (M12-PU)
DOUBLE STACK FRONT

DOUBLE STACK BACK

DOUBLE STACK SIDE

SCREW- 1" x 3/16" RAISED CSK

SCREW - 3/4" x 3/16" POZI MUSH

VENT EXTENSION WA

VENT GASKET

CONNECTION SLEEVE

HOSE CLAMP - 3"

RTV CLEAR - 150g TUBE ﬁ

O

lw)

>- Figure 2

Figure 4

j— Figure 6

HNHHHELMHHAAA,‘Q.&-AANNNE

—Hw|A|T|O|Z[Z|r|=R|[T|y|m|m

2 239681-1




Instruction Sheet 239681 - E35 Turhofan Ovens - Double Stacking Kits
DSKE35-26 / DSKE35-26C (26” Ovens) and DSKE35-30 / DSKE35-30C (30" Ovens).

B. STAND Mt Flat Washer,

Spring Washer, D

1. Place one Stand Frame (Either A or B) on a flat working surface |
with threaded holes facing upwards.

2. Fit both Stand Sides (C), to the Stand Frame with Screws (E).

3. Place the second Stand Frame (Either A or B) on a flat working
surface with threaded holes facing upwards.

4, Turn assembly over onto the second Stand Frame and secure 1 i

5 ?fs fiﬁ;gnsfat:;e;:;;ea?;ztflt;i;ee't are already inserted into t’l "| - X
ends of stand frames, ’ | [ []| Figure3

6. If fitting Stand Frame (B), screw the Castors (G & H), Washers (F) to the base of the stands. Ensure that
the Braked Swivel Castors (G) are fitted to the same frame.

C. BOTTOM OVEN
FITTING ONTO STAND

1. Remove the feet from the oven.

Place oven onto stand with threaded holes in oven base plate lining up with holes in stand (at ends of
sides C).

3. Secure oven to stand using Bolts, Flat Washers and Spring Washers (D). Bolt up through the Stand Side
Panels (C) and into oven base plate.

4, Adjust the stand feet to level the oven.

REMOVE PANELS

5. Remove side panels from the oven, each side panel is held on by 4 screws.
€. Remove top cover from bottom oven,

STACKING ASSEMBLY

7. Assemble the Front (K), Back (L) and Sides (M), with one screw (N) at each corner (Figure 4).

8. Place stacking assembly on top of the bottom oven and attach to oven, using 1 screw (0) in each corner
of the unit (at front and back) (Figure 4).

) ) o —

v
SIS
tgi :

Figure 4 | - s

3 239681-1




Instruction Sheet 239681 - E35 Turbofan Ovens - Double Stacking Kits
DSKE35-26 /| DSKE35-26C (26” Ovens) and DSKE35-30 / DSKE35-30C (30” Ovens).

D. TOP OVEN JEN

REMOVE PANELS i P

1. Remove side panels from top oven, each side panei | S Na
is held on by 4 screws. // rap out metal to allow]

2. Drill out the 4 pilot holes using a 7mm drill and tap L// fiment of vent k.| A 3
out the metal circle to allow fitment of the Vent D (\\
Extension 'P. See Fig 5. N

3. Remove side panel support bracket by vent tube p
on top oven to allow access for fitting vent
extension.

"Dl Out the 4 pilot holes / T e
ﬂg_ti;?g?ggd;"cﬁzﬁe_tap J Figure 5 I for access if required. |

E. STACKING

STACK

1. Remove feet from the top oven.

2. Place top oven on top of stacking kit fitted to bottom oven. Secure in
place with Screw (O) in each corner of the oven.

3. Remove the RH Double Stack Side (M).

4, Remove Vent Bottom Plate from bottom of the vent pipe, 4 screws.

5. Fit and secure Vent Extension (P) and Gasket (Q) with 3/4 screws (screw
closest to oven may be inaccessible), using Sealant (T) provided to ensure
a good seal. See Fig 6.

6. Tighten all screws on the stacking assembly.

7. Place Connection Sleeve (R) over join in vent using plenty of Sealant (T)
between vent and sleeve and secure using Hose Clamps (S). (Figure 7).

8. Refit the RH Double Stack Side (M).

Fi_g_ure 7____ _

F RE-ASSEMBLY

1. Refit side panel support bracket removed at ‘D 3" above, to the top oven.

2 Refit side panels to top and bottom ovens, using original screws.

239681-1




